


「土壌物理学」試験問題 

 問 1．c） 

 

 

（18 行目から 20 行目） 

(誤) 

容積 100 cm³のリングサンプラーで土壌を採取したところ、採取時のサンプラーを含め

た全質量は 250 gであった。この土壌を 105℃で 24時間乾燥したところ、乾燥後のサンプ

ラーを含めた質量は 200 gとなった。 

 

(正) 

容積 100ௗcm³のリングサンプラーで土壌を採取したところ、採取時のサンプラーを除い

た質量は 224ௗg であった。この土壌を 105℃で 24 時間乾燥したところ、乾燥後のサンプ

ラーを除いた質量は 200ௗgとなった。 

 

 

 

（22 行目から 24 行目） 

(誤) 

A 100 cm³ ring sampler was used to collect a soil sample, and the total mass including the 

sampler at the time of collection was 250 g. After drying at 105 ℃ for 24 hours, the mass including 

the sampler was 200 g.  

 

(正) 

A 100 cm³ ring sampler was used to collect a soil sample, and the mass excluding the sampler at 

the time of collection was 224 g. After drying at 105 ℃ for 24 hours, the mass excluding the 

sampler was 200 g. 

 

 

 

 


